ECE 320: Quiz#4 Name

Max/Min, AC to DC, DC to DC - September 22, 2016

1) _Assume ideal silicon diodes (V= 0.7V). Determine the currents 11, 12, I3, and I4
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2) Assume ideal silicon diodes (V= 0.7V). Determine the currents I1, 12, 13, and 14

I1 12 I3 14

s

+12V

10k

Load
100k




3) 1/2 wave AC to DC Converters. Find

« The peak voltage at Vc
« The peak-to-peak voltage at Vc (ripple)
« The peak-to-peak voltage at VL (ripple)
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4) Half-Wave AC to DC Converter: Design.

+ Find R so that the current to the load is 100mA
» Find C so that the ripple at Ve is 500mVpp
+ Find L so that the ripple at VL is 100mVpp
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5) A Buck converter is used to reduce 15VDC to 10VDC with 200mVpp ripple. Determine the following

Duty Cycle R L C
load = 100mA 3Vpp ripple at V2 200mVpp ripple at V2
ifC=0
“(M V2 =10V 200mVpp ripple
—
100mA

15yt x c__ R

Bonus: Bernie Sanders Trivia!!! Which has a greater impact of the economy and why:

. A single person making $50 million / year
« 1000 people, each making $50,000 / year.
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